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BH W& 23.1 299 | 1313
‘ \ )l EE 0.4 31.2 | Rzp3
5 |FNTa=TrTrRI 57 K EFE 23.9 31.9 |
& Rk 253 123 | 1250

Db Jomamste-




EIEEAEIS R VEBRFERR MEERTFTRRRER

BF (BINRMRKEKRERE) 20024104260 1/1

[ B & & W B F 4 1Rtn 2Rtn Total
JIITE P st 2.7 386 | RIS

1 | &RFBAEST7 AR HEd 26.6 38.4
bl fEE 25.1 362 | 1895

BT R 24.6 35.0
R WRME 275 383 | R=zk3

9 |IFGAR—Y277 BA RE 238 35.2
B 4L 240 345 | 1895

=2 26.0 8.8
AHHBE 23.9 325 | Rzp3

q |R&IT7 HK EF 24.6 36.3
: AK ik 230 15.1 181.5

AN Ik 26.6 31.6
HEE fu 224 294 | Rzp3

4 |MEREFER R HE 25.7 36.2
wA E 232 32.3 169.2
WEH P 20.2 284 | Az3

5 |KRRAVu—KEITT DHEE B2 226 22.8
e At 250 368 | 1998
' BEF 3R 16.8 100 | ~Rzp3

6 |MMNVEYTT P B 26.1 34.1
wH EK 248 24.1 135.9
[ NP 24.1 340 | R=xp3

7 |FERHENTRI 25T BrHFl K 235 1.5
: B FEA 233 284 | 1348
S Hi 22.5 6.7 |~Rx}3

g |HEBKRFEITT HEE BORER 24.7 314
#H E 149 304 | 1306
KR Z 21.7 104 [RzR3

9 |FYyYTAKANAZAWA Eih 22.2 23.9
WE_ELT 39 77 | 1293

m il K 21.1 30.0

@ﬂ/éﬁd//%él




e ENELARISURIVBRETEAZ BB

. (ENMRMBEHRERE) 20024108 27 H

[ A 55 5 - &F] J2 J3 J4 J5 Diff Sum Total
EnS ALK e e 1Rtn 89 89 89 90 26.7

1 Eiﬂ & ARESVHRYL 55T 2Rtn 84 81 80 82 11.8 365 36.9
Final 83 85 85 82 83 11.8 36.9
CnvEREET 1Rtn 9.1 88 89 88 88 265

2 3K VAL 0 2Rtn 8182 81 80 82 10.8 352 352
SN - . Final..77 ‘82 80 82 82 108 352
k92 End bzt L = .aorfe. pmy 1Rtn 89 85 86 88 8.4 25.9

3 @mp wma 2 PBTBEIVRULITT ope 73 71 71 72 73 114 330 352
Final 7.7 7.7 74 7.7 7.7 121 352
TIFEMI s aspeaprms—-f o 1Rtn 87 85 85 84 8.7 25.7

4 ik om  ERFBREEIST o ope gy g2 82 81 83 99 344 337
o eeliegwseeno 0w s JFinal - 7:8:.8.008180 78 9.9 337
=98 43 v ot g "iRtn 83 86 85 83 80 25.1

5 @f{,—g; RRESZRUZIST R 80 83 80 82 80 101 343 336
Final 81 7.8 7.8 7.8 7.9 10.1 336
P TWE TRl e 1Rtn 8.3 8.3 82 83 82 24.8

6 byl #¥F o 2Rtn 7.7 76 78 .77 76 9.7 327 335
YEHD Fh Rtn 84 85 85 84 84 25.3

7 TR e 2Rtn 7.8 7.9 80 7.9 7.7 110 346 333
Final 7.7 76 7.7 79 7.6 103 333
O i . 1Rtn 82 82 ‘81 81 79 24.4

8 fEm pg o HWRIIL _2Rtn’ 80 81 80 7.9 80 103 343 327

Tl g ... Final 72 75 75 15 74 103 327 -
$4M $FI 1Rtn 86 85 89 85 8.7 25.8

S Nk EH 2Rtn 7.3 7.3 7.0 70 6.9 142 355 1.8
Final 0.0 00 00 00 00 18 1.8
o . oo 1Rtn 83 83 7.9 81 82 24.6

10 ;’KI%J Jif%!ff,b #IRPEAES ST 2Rtn_§.g .g.g ;._3_ ,_gr_é 8.1 85 328 13
BN o Final .00 00 00 00 00 1.3 13

Uop ot



JTA EIEEAXIURYUBHBRERERS BE—5

AV e (RIBDMRBSHEE) 20024E10 5 27 B

[ A 3 - BF] J1t J2 J3 J4 J5 Diff Sum Total
— o wmevae o 1Rtn 89 92 50 90 93 27.2

1 j-ffu? %tgi REATAYNURNYI57 S s.g 3_1 84 77 84 155 403 406
Final 8.4 83 ‘84 84 82 155 40.6
48 5 AR ' | 1Rtn 85 84 90 88 87 26.0

2 thm xg  Style sportsclub 2Rtn 82 86 88 83 86 141 39.6 402
Final 83 84 84 85 83 151 402
YhA5 Tk _ Rtn 88 8.8 90 9.0 88 26.6

3 4t mp  BWIST 2Rtn 76 7.1 7.8 7.8 76 146 376 389
Final 80 82 80 82 81 146 389
MTHSEF © IRm 84 84 86 89 87 257

4 fRiIF B®E HEHFAL 2Rtn 75 74 7475 72 139 36.2 388
' Final 8.3 83 83 84 82 139 388
ERS THE . o iRtn 8.6 8.9 89 9.0 88 26.6

5 AB jug 2 ERFRIEEIST 2Rtn 8.1 7.8 81 80 84 142 384 388
Final 79 81 80 82 81 146 388
FIHE VAR ST =y IRtn. 9:2 9.2.:9.2.-88 9.1 . 275

6 Ry wfg  LTEARTYIST  opn g5 82 84 79 84 133 383 37.7
| | - Final 7.9 80 79 7.9 76 140 377
4 1% L 1Rtn 84 8.8 88 85 8.8 26.1

T G Bk 2 WEAMVEYYSTT 2Rtn 76 76 7.6 74 7.8 113 341 373
| Final 7.4 7.6 75 74 72 150 373
VIR Yaad _iRtn 7.8 82 85 81 83 246

8 =k gxm  BHIST 2Rtn 7.8 77 81 77 7.7 131 363 366
, Final 7.8 80 7.7 7.8 7.9 131 366
149 ThE _ 1Rtn 83 8.7 82 81 85 25.0

9 fmgk B ARAVETBAEIIT pen 79 80 78 75 80 131 368 365
Final 77 76 78 7.9 80 131 365
STHT 39)7° s mm=—  1Rtn 80 85 84 82 85 - 251

10 kil {/%E 'ﬁﬂ#ﬁ:’t77j © 2Rtn 81 82 81 8185 11.8 362 36.0
Final 80 83 82 80 80 11.8 360



| EOSEZAANSLRUVEEETEAR BEREK KT RELR

=7 (RNEMMEEHRER) 2002410 A 27H
B N % R E F A BABSE & &t
TR deT 34.6 | N3
1 &G R¥GIACEI 77 AR B 346 '
>R DAHH 36.4 105.6
Wik BpRaR 342 | Rz k3
2 Ri&s57 TR mE 35.0
HHE EE 35.9 105.1
) K EF 328 | Rzk3
3 | ENV2=TrIrRI 7T # 32.7
IEE! 31.3 96.8
Bl B 295 | Rzk3
4 |FryYTAKANAZAWA & BRER 33.1
BH P& 30.8 93.4
R & 352 | RS
5 KT R TTT THE EF 20.5
’ G ES 31.6 81.3

7 M «%@W%




Jﬁﬁ EFIEEHARINSURIVEBEFERS HAGE BF RBRE
AV v (BRHIR/NLMBEARERE) 20024210 4 27 H
JE {5z ® & | B F 4 BAZSR | & &t
Tk R 363 | RZR3
1 |&RFEBRILEZZ7 AR FEs 396
JITE Rerhf 37.1 113.0
m % 353 | Rx3
o |IFGAR—=Y257 WA & 36.1
Bl e 38.1 109.5
A 32.7 | RZAP3
q | MEREER BUR EriE 37.3
EEE fno 15.2 85.2
rHHBE 358 | RNz k3
4 R A BT 1.7
SRS i, 39.5 71.0
WEE FEZ AT 29.6 | Rz |3
5 | KRAUR—EEIFT FiE HE 13.6
BiE ERt 254 68.6
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A EVELEASURIVBHBTEAR RE—E
T {(BENENMABESARERE) 20024E10 B 27 H
o LuonFAXRER [RF] Ji J2 J3 J4 J8 J9 J10  Diff  Sum Total
1 K B/EK UDAH [ﬁfﬂ%lﬁ’::lt777*] ‘ ]
1Rtn 8.5 89 100 100 9.9 37.4
2Rtn 8.2 83 82 80 95 95 95 99 453 46.2
Final 84 85 85 83 95 97 98 99 462
2 T ﬁl(i/ﬁﬁ% %%[Eﬁtbvﬁ] -
1Rtn 86 84 85 95 93 94 357
2Rtn 79»: 76 7.7 7.7 9489 92 110 448 45.6
- Final 80 7.9 76 79 96 94 91 11.0 456
3 EH ;%/Elﬁ rﬁ%[jclﬁlvy./‘h‘}/777]
1Rtn 86 9.0 86 89 94 92 94 36.3
2Rtn 8.2 88 83 89 94 97 96 89 452 44.5
Final 84 86 84 87 93 93 91 89 445
4 TH it/ BE BF [KRFYRYZH5T] g
o : 1Rtn' 7.9 84 83 86 98 98 97 363
: "2Rtn 80 84 7.9 784 96 97 96 87 443 44.3
: Final 80 8.2 80 84 97 98 97 .87 443
5 )l {F/HR ?[ﬁﬂ%ﬂ*:ltl’777“]
iRtn 85 89 83 88 99 98 9.7 36.9
2Rtn 7.8 87 73 83 94 92 93 90 437 44.1
Final 7.7 84 81 85 93 97 92 90 441
6 FR YF RENSUE 'J/’J??]/*fﬂ' BRE [RRYY—LHSTT
Rtn 82 79 7.6 80 99 99 99 35.7
2Rtn 80 79 81 82 96 95 96 7.7 430 43.8
Final ‘78 85 83 84 97 97 97 7.7 438
7T B2 FR(KRAUO— ﬁs’%777]/r“ﬁﬁﬁ HE [U.s.cyTkO]
1IRtn 7.3 7.9 7.1 7.7 92 94 94 33.8
2Rtn 76 80 73 79 96 96 96 8.3 430 42.1
Final 7.7 78 80 80 91 9.0 86 83 421
8 FMH £+ [Elﬁ%b—/?]/ﬁﬁi Em%[ﬁﬂ%ﬁ?’udt@’ivﬂ S R S
iRtn 76 79 74 9.3 9.4 34.2
2Rtn 7.6 82 1.7 32 9.7 9.6. 9.7 7.7 430 41.9
Final 80 81 81 83 90 91 88 7.7 419
9 WF B/ EAR RF [ERFRILEIST]
1Rtn 80 7.9 81 7.7 93 94 98 34.7
2Rtn 83 81 87 79 92 94 97 77 429 41.1
Final 84 79 85 80 79 86 85 77 411
10 XH EIA. G T.Cl/ I B=F WMV II57T
" 1Rtn 76 7.6 70 74 96 93 96 - 34.2
2Rtn 75 73 73 73 98 97 97 83 423 40.7
85 83 83 407

Final' 7.7 7.7 80 75 8.9



J-r.{ﬁ EWELARISURIBERTEAS RE—5

\‘“FT? (ENEDM ST 20024E10H 27 H
oA XRER [87] Ji J2 J3 J4 J8 J9 J10 Diff Sum = Total
1 JIIFE [EEE [RRFERIEEYST] / EPEH j(ﬁ [Style sports club]
iRtn 9.1 90 98 9.7 37.7

2Rtn 7.7 8.4 70 82 8.7 9.4 90 14.1  48.0 20.0
Final 85 82 83 81 94 97 98 141 500

2 BAX B/ 5+ *ﬁ&[51$977] R :
ARtn 8.7 8.1 88 80 93 95 95 35.8
~2Rtn 83 7.9 85 80 94 94 97 110 46.1 46.7
Final '89 7.6 89 7.8 95 95 93 110 467

3 By X=E /W &7 [(KRFSYRYLS5T]
1Rtn 84 84 82 85 93 95 05 35.8

2Rtn 00 80 83 7.7 82 86 83 98 421 45.5
Final 86 85 86 83 90 94 93 98 455

4 FH R [SRERLESST]/ BE K [a%myl_ﬂwmu/aw’]
iRtn 8.0 80 7.9 91 94 92 34.4
2Rtn 7.3 79 72 79 9.0 91 89 89 421 42.7

Final .80 7.9 79 76 89 90 9.2 89 427

5 EE 58/ AH £ [EREEILESST]
1Rtn 72 83 7.6 84 88 80 8.0 31.9

2Rtn 7.2 80 76 80 85 90 80 11.0 436 41.5
Final 76 82 74 79 75 75 76 110 415

6 fRH 'Jﬁ%/ib% RE [ﬁlR%B‘b:ltl’ij] g it
1Rtn 7.3 80 79 79 94 .95 96 34.8
2Rtn 7.4 7.0 77 73 94 96 93 78 413 41.1
Final 7.5 7.8 7.6 7.7 89 9390 78 411

T R BXR/ a# BEX [FF‘?MJT 97771

1Rtn 8.1 86 84 89 97 94 94 35.8
2Rtn 80 76 79 83 88 94 89 114 451 28.1
Final 3.8 46 41 43 59 59 59 79 28.1

8 {Fik EH [xﬁxvu—ﬁﬁbvﬂ/f‘zﬁ EMBI [,IFUEX-!'\ ‘3777’]
1Rtn 74 85 35.2
2Rtn 7.1 7.9 72 83 90 95’ 89- 9.7 428 25.4
Final 35 48 34 48 52 58 52 6.7 254

9 R E4E /U0 % CIRBRAR—YI5T]
1Rtn 85 85 87 82 96 95 94 36.0
2Rtn 80 83 82 84 92 95 91 116 465 13.3
Final 25 15 25 16 30 28 29 34 133

10 AR H# [£RERLEEYSI] 7/ £l &k [REIATAYVI5VEY977°]
~1Rtn. 84 89 87 88 96 96 98 36.7
2Rtn 8.1 80 80 84 9.0 91 94 142 485 4.2
Final 0.6 00 06 0.0 09 09 09 18 42




